
■ 次の9つの値のレンジ(範囲)をそれぞれ答えなさい。

304 279 359

32.5

13 14.1 13

13.1 13.3 14.9

295 301 267

13.4 12 14.4

29.8 38.1

168 132 155

156 160 198

18.4

レンジ(範囲)

レンジ(範囲)

12 7.3 11.8

10.4 9.6 10.5

レンジ(範囲)

⑥

⑤

⑦

174121156

②

③

④ ⑧

10.9 11.4 9

24.5 22.3 26.3

20.8 23 26.4

243 183 117

レンジ(範囲)

260 359 261

①
297 171 181

333 296 244

285 272 264

レンジ(範囲)

レンジ(範囲)

26.2 22.4 24.5

30.4 21.7

26.8 23.1 26.9

レンジ(範囲)

レンジ(範囲)

171 189 181

197 182 159
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■ 次の9つの値のレンジ(範囲)をそれぞれ答えなさい。

296 244

①

②
260 359 261

304 279 359

最大値 : 333

最小値 : 171

333－171＝162

③
13.4 12 14.4

13 14.1 13

295 301 267

最大値 : 359

最小値 : 260

359－260＝99

最小値 : 18.4

38.1－18.4＝19.7

④
26.8 23.1 26.9

29.8 38.1 18.4

レンジ(範囲)

77

⑤
168 132

32.5 30.4 21.7

最大値 : 38.1

13.1 13.3 14.9

最大値 : 14.9

最小値 : 12

14.9－12＝2.9

285 272 264

162

レンジ(範囲)

297 171 181

333

155

156 160 198

156 121 174

最大値 : 198

最小値 : 121

243 183 117

最大値 : 243

最小値 : 117

243－117＝126

198－121＝77

⑥
171 189 181

197 182 159

10.5

20.8 23 26.4

最大値 : 26.4

最小値 : 20.8

26.4－20.8＝5.6

⑦
26.2 22.4 24.5

24.5 22.3 26.3

レンジ(範囲)

126

レンジ(範囲)

5.6

レンジ(範囲)

4.7

レンジ(範囲)

99

レンジ(範囲)

2.9

レンジ(範囲)

19.7

10.9 11.4 9

最大値 : 12

最小値 : 7.3

12－7.3＝4.7

⑧
12 7.3 11.8

10.4 9.6
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